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1) A dynamite blast blows a rock upward, after t seconds, the rock’s height is given by � EMBED Equation.3  ��� with s in feet.





a. What is the height of the rock after 1 second?	 





48 feet





b. How long does it take to reach its max. height?	





2 seconds





c. What is the rock’s maximum height?


		


64 feet





d. How long is the rock in the air?			





4 seconds





e. What is the velocity of the rock at t = 3 ?		





–32 feet/second





f. What is the acceleration of the rock at t = 1 ?	





–32 feet/second2














2) A soccer ball is kicked from the top of a building.  Its height at t seconds is � EMBED Equation.3  ��� feet.





a. What is the ball’s initial velocity?			





48 feet/second





b. When does the ball reach its maximum height?	





1.5 seconds





c. What is the ball’s maximum height?		





292 feet





d. When does the ball hit ground?			





5.77 seconds (not 3 seconds)





e. With what speed does the ball hit ground?		





136.7 feet/second





f. What is the position of the ball at t = 0 ? What does this mean in the context of the problem?	





256 feet


The building is 256 feet tall








4) A golf ball is hit from the top of a building. Its position


    after t seconds is � EMBED Equation.3  ��� feet.





a. How tall is the building?			





160 feet





b. How long does it take to reach its max. height?





2 seconds





c. What is the ball’s maximum height?		





224 feet





d. How long is the ball in the air?		





5.74 seconds (not 4 seconds)








3) A falling object’s height at t seconds is � EMBED Equation.3  ���.  All answers will be in terms of the object “falling.”





a. How far will the object fall between t = 3 and t = 4 ?





–112 feet





b. What is the average velocity over the interval � EMBED Equation.3  ���?	





–112 feet/second





c. What is the instantaneous velocity at t = 4 ?	





128 feet/second
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